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Foreword

The Board of Secondary Education, Assam has introduced
new textbooks developed as per the new syllabus of the Board re-
vised on the basis of guidelines of National Curriculam Frame Work
2005, (NCF 2005) in class X from the Academic Session of 2010. A
guestion bank and a set of model question papers have been pre-
pared in a few subjects with a view to familiarising the students with
the forms of questions. These are only model questions.

Any suggestion for improvement of the content of the Model
Question Papers and question bank is welcome.
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Assamese

Modern Indian Language

Full Marks : 100
Pass Marks : 30 Time : Three hours

The figures in the margin indicate full marks for the question.
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o

(-2, -3, g8, §T-YT

o o [

) et <1 Ul 1 faue & 9919 &7 9 99
TS, T, GE-3@, TATIT |

1+1=2

Y, x4=2

H

1x2=2

) FIssh H feu T fAcengar (Mefatad a1 ahafdq
HL 1x2=2
i) 9€ @A | |1 AT | (HYFT a1 7))
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i) T St e get ed @ | (e ae ')
7) famfafed arrmen % oo uh-us wee fow: 1, x 4=2
i) foreerT s T &Y
DEXGIEREGEISI
iii) ST SHA T ITHTT HIAT &l
iv) F9aT ¥ faearer 7w aren
&) faefafad sart 1 g F fHed foa:
i) H AT ST R
i) IH T =T =1
iii) &9 Ao @ € |
iv) TR T St fohame o7 SiST)
8. Wl I HTHIUT Sl YT TaeAT 8g ATaaT HLh AI
faaTer T % FETEETE F UE g7 fafew) 4
T
fommera =1 SHTET TOET § I9H7 A F1 FIAT I gU
ATATSI [ T 95 \fEu|

Y, x4=2

(30)
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Group - B
m_la_l

quitsh - 25

9. qUf I F I IITC 1x2=2
(F) T F ST 1 STl FFHT 2l g2 2l & ?
(@) St Toraaht FEt & FHeril Garad @ ?

10. ST F9T : 2 x 2=4

(%) T& fog 8 7917 Jar g ?

(&) ‘g’ sfadar F afvfa @91 F 9ived 9¢ 989 F

TT9T ST |
11. ‘SATTeAt fag’ 1 A1 & dre-a Ot 98 68T § AT T
SIS | 4

12. g9 T GgIANT A4 IFCHH 7 #gcd [0 9T U
ag=e fafau | 5
13. T T AT T qHEAT & P ! "ey el 8 e
TS el & 2 T Ueh SaTE T TG HITSTT | 2+1+1+1=5
14. 'STET FAHTC T Fgd &7 TH AGHILH TATEAT i

Ffeafrr & fou sgagTe fFu ST=aTer a7 9rsal 7 Sooid
AT | ZH STAHTL HT U IS8 W7 W T ST 124+2+1=5

(31)
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Internal

Scheme of Options:

* Denotes the marks have been combined to form one question

Marks : 30
Marks : 50

No. 07
No. 21

Summary: Long Answer (LA) of Essay (E)
Short Answer (SA)

two

Scheme of Sections:

Marks : 20

No. 20

No. -

Very Short Answer (VSA)

Objective (O)

Difficulty level:

Marks : -

Golok Chandra Deka

18

MIL Group - C (a-fa=i4)
(Sanskrit)
JYETIRF 8 W
Time: (Attached to MIL)

1. Translate any two of the following passages into your mother
language : 3x2=6

©eTq RICPIC] U1 S5=% (OIS NI S 4l 2
(a) ITETATIUT TIASATAT: HITTATs STAHATS AT AMTAAH,
ST | T T2 SATCHTA M1 TS JTOT ST |
(b) TTSIT STTChTRUA e FHH T 3T Tz TAAH SATE - T T
AT IeTe IOTRIAAT AN T 38 HITH g UF o
ITATH ITa JieaH STar=Ie |

(c) AEH: TSIz AT ATAF-SIUSIET FIATTH =g | T
% -THT H{Tac AT ATAH-SIUSTLET TeATTH Saegar |
&2 HH L TS He ATAR-SIUS T Fea ok ST |

2. Answer any one of the following questions : 2
o RICHICT G 21 Tee ol ¢

(a) Tz WIRTHA | TT HH AT Sicita af o 7

(33)




Who is the speaker here? Who was ‘T CT=Te’ ?

2® @ (@92 TS (I wifeeT 2

(b) T THT AR, qfE TAT Wag |
What do you mean by ‘STTHTH ?
S T 5 e

3. Fillinthe gaps in the following verse: 3
TR (AR Aifet 31Z 73 4t 8

e 3 ----- HGAT gHAT=
Or /=<l

4. (a) Answer any one of the following questions : 3
OoT9 2R RIS Bis Tes i ¢
(i) What are the six causes of happiness on Earth?
52T 72 20! il {5 5 2
(i) What are the six vices a man should avoid?
3 1 =01 (11 Mg oplal < ©fbw 2
(b) What s the characteristic of greatness? 1

(34)
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2eq o 5 2
(a) Derive any two of the following : 1x2=2

O R o1F Jjeoife 12 ¢
() TfeI=T in Q. No. 2 [37% 2]
(i) T in Q. No.1 © [ 7k © 2]
(iii) ATHATH N Q. No. 2 [a R 2]

(iv) IHAT in Q. No. 1 © [> R © &¥9]
b. Account for case-ending in any one of the following: 1

o RGP GOIF T ol e i ¢
AL N Q. No. 1 © [> 7k © 2h49]
WINHETin Q. No. 2 [3R 2%
AT in Q. No. 1 © [> R © &%)
c. Decline any one of the following : 2

O] R @5 *(wrawol forall ¢

(i) "TEH<T in seventh case-ending plural.

‘T AT efes IemTe |
(ii) ‘=¥ in vocative singular.
TG AT 2V G |

d. Conjugate any one of the following : 2
(35)
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(i) v+« <

X:SSVT1O

(i) V3T + A f&)

(i) VT (to drink, 5 (=) + &< AL |

Frame three adjectives from any three of the following

e.

1x3=3

oo} it fof o) ey #i1 fofat! Rose stom sate

nouns:

upsUes (O-dnouo) 1IN : L030aNS

INIdd3aNd

Jaz |

TR, A,

o
Oy

T,

20
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Time: 3hours

MODEL QUESTION PAPER
BodoMIL

Class X

Full Marks: 100 Pass Marks: 30

The figures in the margin indicate full marks for the questions

N ~

1. e e S {haa! S Fed o |rfas|

grl
(%)

(®)
()

(=)
()
(=)
(&)
(1)

1x10=10
Tead HIATLT FEATT Ivd THAN BN T
Hr?
a fa ~ ENRY

HATET ST @ EAATT gar ?

[ A N [ o
FTHTEIT AfaL@l F1T TG ST (IT4131d
STESHIT ?
o N e N NN N
ERIGIERGEIENIPICE BAERERSIGIC R I 16 N

[aS N c e . ~ =
G JAATS T o AR § AT H47?
i< firfa firfaar sremetT awre afansEmE ?
Sv< GHTS ATCEIT 3T HIGTSHIT ?

-~

ST BT @ ATeE! 9T o E T ?
(38)

H
u

21

o

() SR AT GATERITAT 9! TE=e] TaEi
ST gieay ?
() & AT AR @eITITd L@l 3gara
Q Y LN
TRTHATT AT Fai ?

2. A AiqhiEl gid fha gn:

2 x5=10
(F) TG AT AT AT AFTHET 9497 Afe A
ST ?

e
ST |TFATAT AR Shedd T ST AT GTATHANIN ?
I3 Y N C o C L N
(@) T HET AN IIRE T @A 7
AR § o<
N N o~ N N o~ N
() T ARSI TR (G G JTAT=hE]
AT faET Tsr@HE e
(=) ‘srifq MW Eemf gt seue S |7
el | awar?
e
L : PN .
AT M TeqToTe ATET ggie ST ST g1
®IHTIS! ?
(%) ‘IS AFIAT STHEAT ST AT AT ST |
gar?

(39)



e
“TET E<ITAT HT SRR @13 AT F Te e
eI AT STaT ?

3. e SigwiT foaar 937 av : 3x4=12

(F) =7 aSg0E {fad ¢ wrfa |/ 4971 oy ggar
et faTl
QaT
‘TT AT QIS STRG TIITAE TR AT
AT AT AR AT FIAT BIHATIET (A<
(@) I G HATRIE! /T AT SERATE AT &0
ozl

QaT
TORIT T @991 AR T faT)

(1) AreE w9 fa7
[ N} 2 A N ~N O
() FH GeITEET! AT S8 AT o)

N o

FTATCT FEHAT HIoAT HIEIE AT GIThTT 52

T ST TSI 2 4
EQIGIERGEIESIPIIEEREE IR X P IR IC B ARV EINES
N N~
STEHIT L7 4
e
ERIBIERREIESIRIKIESIERTIE R IR IR I CC I G ]
g1 - | 3T | | 1T ATES =T (< 4
a@a;“ |%|(: 4

29T T3 9HE THITE R[S
N N ~ ~
STI< /IET SIEAT ST,
T et gV s 9 S 4T
~ ~ L
HTATET THTATE]
~ ol
AT o At =)

QET
TR ETaE GaAraE’

T SATENTTIET ErEl A
“TE AT QAT TSTAE! qTET ST 04T MR JH a9
ST a1 | FTHTT frfesmr |
fa ~ Q= N N~ ~ ~ ~ Q SN
4, FHITITT FEHAT GUT THRME AT @A Tl 4 8. W@ HIAT ATHT 4O T FATT ATeAIGHIA ? 6
C 22 C

(40) (41)



10.

11.
12.
13.
14.

15.

ARERT AT w1 27-gal e ArfasT grmeHe

T

MR 3A AATR @A I IR {7 6
e

T G AT HT AT @17 S3@iar @) 6

¢ TEfT I T AT ERT 7T 47 S TR

STETRIT |T AT? 5

ATISTT TafermaT dae a0 |17 |72 4

I AT 9Ieid SEIRTHRIT AT AT ? 3
~ = N e

AT A9 S1er T < fa<? 3

~ N LN NN A o
T ITITHIET AIald HITaST S IATT (ST ST

(9) = IAAT A ------ |

(%) ST qEIT &7 ------ |

TETAE BETT AREAHI ST gad T (SJafe
SIDIRICRICICE 3
T, faam, arafy, e, sarto

(42)
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16. TTETAT EIFTAS I T TR AT 1T =7 (St ST

17.

18.

HET): 5
-, GET-fRfe, Je-997, JIfF-gaf, Je-ug,
fa ~ ~ ~ =

(R[0S, STETE-IeTe, fag-3ree |

MM STATRTEET | AT ST AT fafsran
rﬂ(: 4

« ~ N
AT FITAT AT U

N N 5
AET GrUHATIT grar et |

LEI
“ATITAT AT géﬂ

N o N
ATl gLetld gLl ESERZIRZIN

~ N e NN o ~

TMETE BTG JEa wa o< 10
(F) HIIET AT TSTET

(7) s

() ATITHTT ST

() FTTRITT W S|

oog
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Manipuri
(Modern Indian Language)

New Course

Class - X
Full Marks - 100, Pass Marks - 30
Time -Three hours.

Group -A

S | 0 STl @Al Sl 28y Y 8- Yx50=30

F) (T T AT Il B 2
2) gieferisl FI oI SR 2
o) M NN Wl
- S FE M ARAE! 2
q) AT S I T @
- TP SR 2
8) TETCANG (AN (e
- it o e ¢
5) 0 Ai¢23 ‘Incarnation of thought’ & ===t 2
(44)
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7)ol YW STCeTIe’ |
RS W] ST AT o e 2
o) ‘efsel 2l Sk AR SR 2
) SCETET @B A #NI9N] 2ALiot Sl (<17t 2
@) ‘B S9N TSN FANC! 2

. (OTF! ATYN Y ¢- (¢ 4F)) OxE=5¢

F) T ARy TRREN Y L6 2

) QS JA AZTE (270 TOIF 51t T wR
ST 2 SIBI9T] AICE TGR B AW OIFG |

51)  CRICOAT *[Talle FRGTST ¥IFRAN CoI=aH, SICeTaT 93l (Aol
B (AT 2

q) ST FHF NGB! TG QA0 €ZFBRA0o! 2 AN W
o 33 |

©) STIRTGST oTIfIaT (ol (IS tan TR (ita 2w ol
AT T |

5) I IRAMNS 7% Wzl (Practical Art) 2RI 2

© | 9T g SmeT (SFLFT ) AT Y 2- ox3=Y
F) WETWl S SrAl
oG] BRI T |
G| AFPm errel SRl ZRfEER FRIE S
FRMIE QAR 2 $+3=9
(45)



¥) YIS’ AT TR S TR AL TR 2 S0 (IRl V| F) AeR A CReF! JReREe’

M (w2 S+3=9 LF | A S T B TN LTIHCA 2 3
o) ‘MAS’ AN FRY LGNa 2 FRY FRTMAS ST <) o SR el Rieal SpiR ge-*if 1239 predesit =i
(RS’ 2T (RIRC 2 S+3=9 9% FITA! 2 SWIANT TR T (A1 | ©
8| I WA OGN *[CWI! 3 3- @x3=50 4. F) w6k e3iR0en Rl S ik 37 (F@= <R Rear
F) T AP Tl T, 2RI N I e (ARG 2 S+3=3
TIF] THRL] SIS A, ¥) T fe Ry e S Al S
TR Troiee T 753 1 Af ST ACFeT TR SR AT [T #jfm
B! TR SRl 27 | ©
) (IS CARTT (ARTFE ) (HIV) @5 , 913, f& TrRf S I a8 weaen
M3 FART T NHPE AR = CIEAC! 2 @
G FHAFF! T ATATAFS | @il
o) ek ST (ZAl Te3W| GTRER Se! SIeq Frew q) ‘93 R SRV ISR LS ETRT (GRR
eI RN, S %iml s Jaoll sfeamt R S (TR oy TR SR 2 «
HRAB] CPOICeTS] (I ST SRrR STTeE9N T
ol Tl | Group-B
@il b, NN Sa ST () AR B o S0
q) 0TI T (RS- G (] (Rl T €3 = Tale eI F) ST ST & |
<7l ISl QT (RN | (R - AR -4 T (AT - PSP
¢l F) IR @ T GF T =[N TEl @A AT = )
R S SR 2 2x3=8 ) FHT0T |
) (I S0 Q=M FIRY Gl 2 o5 (STRTITIR - ORI - SIATTRT] AT - S TB5T | *Fri=i<
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- N - ST SR AR “SRE eI T e |7

5. F) FNIRY (FCA I AGA OFC - (R4F]) &/ xx=¢ Y. 31 ANCER T2l ST AFall ST 2= AR 28y
(l) NISIN (W) %S yo
(ii) qre~ (2roR) “>Tere! ZITI AN HeTal o1 I (BT | (oNF Tl
(iii) 9 Alofe QTR (IGATHANNT (R RSeleTa ST = GG
(iv) TG (FITF) el Al I | TN F-Coram ST g
%) Cafew (1) ol (2 40 8 S+5=3 PR SRR ST A5J<ZPIRN ST T TSI CoTIC |

RS I S{fERk ST Seoimal e wHt el Rl

S, T, A
o | o fRrcaTicatiiew] AferaficaT srof | sel erifie SN erife

o) SIS e ¢- S+5=%

. . “ " AT QI¥ET (YA, RECRTICTRe (et s Zal o] (A |
(f.) ST R 2, A T BICAIN Sl 3R (PRI S @N weﬁgc;?{ ol
(it pro<eT wRie i =12 Al 22 AFS Ol (10e 2B (T, T ot | st
) AT AR ST ORI PRI 3- (L 481 ) 3+3=3 G231 <E NS S CeTerdl Srifewfit s ewal el sk |
() R I | TR ST QeI wis ifel sreisse Az
(ii) Q=1 SrzIPa] sl ol o | Tl | ST CO17-Colell Fg e o Ceem) Sk Al
(i) Corge TR €3 | oI 61 FjfRIT Tl A waE TPy TR |
8) 0 AL ST o TR 2 (8 4F1) 5x8=8 AR (F)  FEIGAEIN ERISHI FIR Tl 21 TR 22

RN TR, Tel I (231, Tlal TS 0l (4) SRISARTI FEHY Terel 2T TRl 2 3
o1 (o1 I, AN G771 & (o) 2 e SRy gl T ez
So. M BACBeT (SR XCHIFS 3 SXE=C (7) sl wifeg FRTNS igae w0 R R
“m6 TN (56 Iz, R SRl (=R iR 17 (6) wiifo B5ll Sfs Srwall ALgho (a9 0 FREN? - 2

@l
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AN~ fa [N AN A 5
Y. TR TR TISTeAT T8 o= @ISihl &l ¢ R
. ‘ATCIET ST § QAT T At fahme 1+ ge; |

L IqT WHTZ FORT &T? 3
HSL%UEXSE‘ESS};E;n 2013 9. AT T e qiiefcas Ffaer a6 @@l R
¢ AT T HFL AWE, ? R
Full Marks : 100 Time : 3 hours Q. BIHTTHI TAGHT JaT Fiadl THTATHI FH FUSHTE
fozust 2? %
(F 3tm) Q0. AT SATgreR fufifershr-arh,

Q. SO WE: ITAT U Sl Toa-Hifds | AT TqeT I R
qTEA TS TATAT ATh-TEDqATS, TTETT YTHT STae ¢ Q. HUTHT TIUTH * F oL R
TURTCh ST ATE T TRTeAT, TS T T Aoag & ¢R. ATEATE JTerea T 7 TgaT g ? R
qfer gfcrfeferce T QRIhT | - STTe Tse X | ¥ 3. “Wiv 7 " fesar gl UseT UE o Sfaarn

. FHIATHIL TH. F AL Fedl AIE e Heg THTET? - HIGET T TTEA e g
FIEH AT o9 | 3 Q. HiET ITC o Ix23=2¢3

3. AYEST ST T (F UHHT) 4 F) TG T, AT T FET FETH! TSI FrST A
F) AT I TTET AT T B, AT AATE FEHT BT ?

TH, I, g, T AT FA
) “qTEl AR §® Wq 9 AR Wead, 39 A1l
HAE AINeg Tg 1"

N NN N o
QA dolet disdll=nl Hlecidlc = el LHI'("L? R
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) WEHT J&T TSTAT TTZhT T Fel T ?
T) HEHT AAHT F &2
o) ‘AT greaehT 3ef F Er?
T) TIST €Al LNTH[ 91 o9 |
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2.
2.
2\9.

<.
R
Ro.
2.

2R

3.

T T F Br?

=) HTELE &I qI5HT A@® Bl g7

) ToIwg HEHI ST Bl 7

ST) AR HIAT F ®E@G T aqhT forg?

) ‘fFdfe =T w1 er?

o) TR HIEAATRT 77 Higel ATHT AT ?
T) A T Fews ?

F) “ATNH WIET Higed WiaT $T a7 FHHT FI9 817
T) ‘THT IS FadT F Flaare [30H! 7
ATl Aiee Hfeel T HhhT S=aHT TUHT 7 ?
SETE® ETHT WIUTHT & g ?

HITUN T geL? IeAT Hel Tei 7

“gT-g g, AT THL 7 AT SETAHT A T L |
HTUTHT AT FHEdT g ?

A ) )N

N (o [ [ o
EINIERS RIS ‘-II“I“?%?ﬁ*ICI A<l GQFL?SQIE%‘\UI dled

o | %
foreT afeads T - (F9 32) R
(F) IFH (@) wreft (37) T
F= af g T - (FF 32) 3
(F) g™t (@) |y () FEar
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30.

ERE

ESS

EES

qieer AT & g1 ? AT I THTHT 7

e fa ~
FAATT HTAHT F2THE IIE T Higd o |

O C (o) [ N

THTIHT FoF T FEeTs, Wik, ? TSaT See 0 & |
STHI(HT AR T 22T AT 97135 |
I FTFATHT I |
%) ST fag B faaer g g TEg |
) TSI, STHATE ASIAT Weag, et |

PO NZ D 23 B2 B

T qfEd e T R
F) {eT WTT @Y |

q) AT ETHIGTT 21T |

‘g farearet faedr i | wra faedqre x| ¥
oof |ET AT I3 | (TH0) IR =¥

%) A@rdreg (@) TSl "El a8 () @ 969 |
TTe AT T fageht 99 IR IXR=Y
F) G WragH A Jag e U O A8

) THA HATE, qIY JAT THT g8

T 3eq o9 3
F) O 29T AT -

T) T Tlgeh! TIHETA-

T) fIs+ o -
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srefeet frorg, wer=a afawsr o qearfa a werar T | = quara aq
fepfoarc S Tes Heed TSI o qearfe, A1 arsaie |

(© HEEd AWEd [awFaAET-qaHe: STLH=Ry | 3 AT
AT T T QAT Hleq] T&: THARTE-AHIY qofq fagid
| ¥ @t 7er: s Aeavedd qaedv s e edry

TIHTTH JIATH |

Or /=12t
T WETha: HIFAAMRT IR JHAT | TG FlT-FHTlaTH:
FET FA 5 Y TIATRY F GHAFaa 3 AR fawd foaeaa:
o o o . o~ e o8 ~
AT | FAT FfAFATE FIHATE [T |

(d) T STTEFHHT fgaret SeaT ST 9T 5T qTeq: GIee,
ATt FSSTT HTRTrRerTa AR | WIS @, 99 seafaargis-d
IRRTTEATHIT @ T ST TRRTaTeoT = 3 |
Or /=12t
T FAMEG ST WIST TWAE AT o= &7 FTFET

AT TG ATE FHTT | T A TR FHTA (A2 |

T T FHATA A&7 ST |
2. Explainthefollowing verseswith referenceto the context:
25 TS (MYRIZ OeTe Ml Al (351 A1 12 5x2=10
@ T AT FAT AT, TAATITH_ |
o = AT TR g FATa:
or/e=t

(60)
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()

o3

T AT Heel Fed g8dd U _ |
T T frepfa: o Feg awerT |l

o

FHOYATIHTLET AT HAY FaT= |

AT FHEASTHAT T T U ETHHIT ||
Or /=Ml
gt ToRaToTTteT 0T FHwffor wesfer: |

r [ [ el o
ATHTUTHETHT hed T [HIT HI |

Expand theideaof thefollowing:
oo Al (1S9 O] I ferfe

@

()

T T T S AT |
Or /=1t

T HTdHTS T2 & e 9 FHhged |

s NC e o (o)

qTT[E STTad Aesrgd: Trastad |
Or /=Ml

SATE U AT SUTHE FAeaH |

Answer thefollowing questions:
oS 2T T ferf
(8) “F FHIAITETE, AT Fdf et

(b) Fromwhich dramathelessin has been taken-
“HIJEE] o9 ?Giveanintroduction of the dramatist.

Elucidatetheideaof the statement.
IR o1 q2ENs o |

(61)
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“ATETEEg TAN? A0 (P beF® Witz ? Abree= «ff =5 |
(©) What do you mean by “FTHT T write the names of any three

great poets mentioned in thelesson.

OS] M fF e 2 AHTS Bra T4t [ (@it fofevema wzsfaa

1 feraf |
5. (&) Answer thefollowing questionsin Sanskrit: 1x5=5

©E IR0 T WFS feralf
(F) gaoa: = & wafa?
(&) gaT| IcaH 67 ?
(1) TEgfafes T Fara AR 918 I F: ?
()E = F: wafa?
(%) g fwet & wafa?
(b) (i) Whom do you mean by ‘FTHET ? 1
IR JfeTCeT FRF el 2
(ii) T wastheking of €T/ FHTeest / 7T 1
(select the correct word)
FOA A1l FEE / Wies el wifeet |
(wm Texeh! Al Tferear)
(i) Whoistheauthor of Joerd=? 1
‘“PlPoTT PIFF (FI?
(iv) Fllintheblanksinthefollowing statement:1
SR ATANRT 2ifer SiF 276t w4l

(62)
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FTAY ATEeh — T AT AFe T |

(V) What isthe nameof the T5Ts ? 1
TG Gl 1% {52
(vi) Giveone sanskrit equivalent of theterm =aTf= | 1

TR =g g dfeniar «fb foralf |
(vi) FETIRY: sAwIei <ad: was not the son of BT | say ‘yes

or‘no’.

T BTGRFIR (RIS 5 I |

T TR (I

(¢) Answer thefollowing questions:

@S 2I(RIRS B foralfe

(i) “HH STHANHIRY: ARG 3
Who wasthe speaker of thisline ?Why did the speaker say so?

2 FARIRE T (i 2 TSI2. GTRwe 57 0z

(i) “Teae g geoy qu: | FHTHT” | 3
What ismeant by ‘dsaa’

3 TSI =1 & JaiRez?

(iii) “TTRTTHERT T TG | T | 2
What isthe speaker here ?Who isreferredtoas‘ a9’ here?

B G| (P 2 TAMS T XHGIE FIF IST1302?2

(iv) Name three 3T, [T written by ShrimantaSankaradeva. 3
E1E *F0Ca ool 1 fofae St wibsss wi foraf |

(63)




6. (a) Account for case-ending in any two of thefollowing: 2x2=4 9T (to exist) in faf afars 2 (Rfiferg frefes Fre) |
©oTq RICPIC] OI8 P [ el iz A inds I (S Kofes o) |
AEUI in Q. No. 1 (c) [15% (c) 2re] 9T (to bear) in ¥ T (15 Fefe< ‘(@) |
TTERIETTR in Q. No. 1 (a) or [172 (8) %121 2%1e] F (to do) in & T (5 fefes fe’) |
AfaAT in Q. No. 1 (b) [175: (b) 2] (¢) Changethevoiceof any two of thefollowing. 2x2=4
TRTATOTT in Q.No. 1 (d) [152 (d) 2] ST CRIC! MBI A6y “AfRaew e
(b) Deriveany two of thefollowing: 2x2=4 (i) AT a9 |
(ii) = gET 75 |
o] R 751 qqesife e iz (iii) fererf: &=t |
T inQ.No.1. (a) [17% (a) =%re] MEREERERICE
993 fd in Q.No.1. (b) or [192 (b) =< 2] (d) Name and expound any one of thefollowing compounds: 2
T in Q.No.L. (d) [17% (d) erre] PR ferfdl o RICHIE QbR SR 1w foraifs
T=I=T in Q.N0.2 (b) or [27 (b) =12l 2P srefefore, fahorg:, FaTfaa |
Or /=2l
7. (8 Declineany threeof thefollowing: 1x3=3 What do you mean by FHTH ?
worq RICwiel fofBia =l foraiis T JfeTcat 6 e 2
1 in To9HT singular [#1%e7 [efes abms] (6) What do you meant by T%& ? why isTFI=e 9& not a1 ?
T2 (YFerg)in TAAT plural [ w1 R a2mere] 1% x 2=3
JETF in TIHT Dudl [ 22w efes frapae] I J[eTee 6 el 2 = 7 (63 i w23 2
2T in =FAT singular [ 5991 [efes @& qvs] Or / =1l
(b) Conjugateany three of thefollowing: 1x3=3 (f) Giveexamplesof any two of thefollowing, in suitable sentences:.
oo Rl fofatia argmel forafs 1% x 2=3
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ToE AP O FACHIC MoK SwizRel fusifs (c) Donot disregard your teachers.

(i) == wagg: | (ONR R S wef |

(ii) ST T | (d) Character isthegreatest wealth of aman.

(iii) FTEA ToTHT | 5@ Wi2d SBIRSCE (D 7w |

(iv) STTETT T | (e) Vamiki composed the Ramayana.

Or / 5=l AT I o1l Ffifeet |
Define and illustrate STT&rsh<oT T | 3 (f) Dasharathawastheking of Ayodhya.
TR SN e oiifes |

TrigRepTR ifEnael wepa orel forsf | Or / 1=l

(G) Givetheresultant formsof any two of thefollowing : Read out thefollowing passage and givethe answersto the questionsin Sanskrit
1x2=2 asdirected:

©oI RGP YOI v @i st foralfe Oos SAfRERATs #Ifb e ST oo eMERT es ferdle

(i) e+ O+ @2 ) T HieHfT=aaiesT™ YU A TTh: | € =9 MW Thufe | qiufa

(ii) Grfr-3 + o + T 1T | TS, ATTgAdT I | AT = TTehel AT FHAT HAATH ] §o2-

(i) g +a +F (T | fafead =, T2 arHaH, STafaaH | 39 SATg=HT gfasgrer e

(iv) CaT +for g +¥1. T T TFEEYHSITH | T o =TT 918 7ear 7 fswrafrsaf |
8. Trandateinto Sanskrit any four of thefollowing sentence:  2%2x 4=10 TATIICET THHT A=, TTHE0T FAUT | TgH TSeh1 AUTT s

o R BIRGR Ao Sgam e T |

(8 Peacocksaredancinginjoy intheforest. (F) THeT A0 e, ATHIA ?

RS M'HABEIE SNere Tz | (&) IgU:’ ITeaE HEpA-giaeres: T4 |
(b) Nothing pureisthere asknowledge. () T FA STEI ?
TS el 2l T E | 35 () T TaH: FEAT FHTOT ATTga et T ?
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MODEL QUESTION
Subject : Persian
Full Marks: 100
Pass Mark : 30
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Full Marks : 100

MODEL QUESTION PAPER

Subject : Social Science
Class: X

Design of the Question Paper

Weightage to contents

Time: 3 hours

Chapter Subject/Lesson Marks
Geography :
1 Economic Geography : Resources 5
2 Regional Geography of Assam 15
3 Regional Geography of Asia 10
4 Environmental Problems and Management :
Geographical Perspectives 5

Economics :
Money and Banking
Economic Development

International Economic Institutions

Chapter Subject/Lesson Marks
History :
8 A. India (1905-1947) : Partition of Bengal
Swadeshi Movement; its aftermath 5
9 Rise of Gandhi Era of Freedom Struggle
10 B. Assam-Fall and decline of the Ahom
Kingdom 10
11 Assam's role in Freedom Movement
12 Cultural Heritage of India and North-East
Political Science :
13 Indian Democracy
14 Coalition Government
15 India and world Peace
Total Marks | 100

(84)

(85)



B. Weightage to objectives No. of Question Marks 1. Choose the correct answer : 1x6=6

(a) Knowledge 25 45 % Teqco! Jify Sfereqt —

(b) Understanding 10 40 (i) The number of Administrative districts of Assam are -
(c) Application 3 10 (@25 (b)26 (c)27 (d)28

(d) Skl 1 5 SPTE e fereTig A T —

&) () v () 2 () W

Total 39 100
(i) Total area of Asia is approximately
C. Weightage to form of questions | No.ofQuestion | Marks (a) 40.2 Million Sqkm  (b) 42.2 Million Sq km
(a) Long Answer (LA) 5 ” (c) 44.2 Million Sq km (d) 46.2 Million Sq km
(b) Short Asnwer (SA) 18 51 GIERIE ﬂ? oIt e —
(c) Very ShortAnswer (VSA) 9 9 @) soxfige AR/ (%) 831 e afE ML
(d) Objective type (O) 6 6 () ss.x e afef.  (9) su.x fye afs i
Total 39 100 (i) The Headquarter of NEDFi is at
(a) Guwahati (b) Dibrugarh (c) Haflong (d) Shillong
Tes 77 TR e form v e —

() @aRbie () ftmige (o) greerss (9) Reres |

(iv) The British who determined the international boundary
between India and Pakistan was

(a) Robert Clive  (b) Lord Mountbatten
45 (c) Lord Curzon  (d) Seril Redcliff
(86) (87)



TITe W% AfFTNT Ted NS T e [eiwe s
ibwew wifes —

(F) W Fize (4) T TMBGRCG
(1) 7TC FiGTeT (%) (2f<e (el
(v) The writer of Hastividyarnava was —
(a) Srimanta Sankardev (b) Sukumar Barkaith
(c) Madhab Kandali (d) Bhattadev
TR (E74F oNfes] —
() S *<F0 () P T2
(a1) SNi&@ Fwfet (9) G |

(vi) The temporary members of the UN are elected for —
(a) One year (b) two years (c) three years (d) four years

TR SR o T2 e 11 2 —

(F) = A () 7= S

(91) fofaess A= (%) bilea==s @
Mention the total area of Assam in Sgkm. 1
SRR b 9T e 3441 |
Name one river of Asia flowing into the Pacific Ocean. 1

2T TSR (3 (@R QR @2e = 1w fo7alt |

4. Who composed the song 'Bande Mataram'? 1

(88)

46

10.

11.

12.

JW AT O (I el T 2
In which year did the Quit India Movement start? 1

RS G5 A (P 51O SIS (2= ?
Name the peasant Movement of Assam that occured in 1861. 1

StrbS 5S FREDS (IR PR FI5 [cares = foral |

Who wrote the 'Padma Puran'? 1
o7 #fJe (@i fofifesT e

Who defined democracy as a form of Government of the peo-
ple, by the people and for the people? 1

(I TOTF 12T, I3 ! SN I3 MK HIFE G5l 2P
et vicesl i 2

Mention one advantage of Coalition Government? 1
TRYG G Gy Rl e 1|

Which day is celebrated as the world Human Rights Day? 1
CRICH! Tre (1 wifR) “TRd e izl frey” f2pice! At il 270 2

Define Economic Geography. Mention two important branches
of Economic Geography. 2

(IO SLalleTE Ageal 2l | LT oF GLolleTa o1 SR 1 *N<iE
I3 Tz 4 |

Prepare a note on the Monsoon Climate Region of Asia. 2

G GIE TR 89T 5l (BIF! 2 34 |
(89)



13.

14.

15.

16.

17.

18.

19.

20.

21.

Define two functions of money. 2
I@IF YR I TCE NG 4 |

Distinguish between the Central Bank and Commercial Bank
(any two) 2
FUT @S IF JPNF (@79 Were {12 wife @1 | e 1o1)
Explain any two objectives of the International Monetary Fund. 2
wsifes qut N 751 S A F4 |

Give two differences between the Would Bank and the Would
Trade Organisation. 2
fRitaces i fry Aiferery 718719 iere 24w 751 2112 Trae <1 |
Discuss two objectives of Assam Association. 2
SR TR 75! STl A 41 |

Make a brief discussion on agriculture of the Barak Valley. 3

J[E TAGFR FR T=IF @ft R SNCEAB SRCGR |

Explain three functions of the North Eastern Council. 3
Te-77 ~fams fofol ST 140 41 |

How can the barriers of development be reduced through Eco-
nomic Planning? (Give three arguments) 3

ST 2IFFFAR SRCe THINT IPTZ (FCEME FI A -
SicsTvAt | (Fefot Ife fram)

Explain three causes of decline and fall of the Ahom Kingdom. 3

SR e Aend fofb! el r 41|
(90)
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22.

23.

24,

25.

26.

27.

28.

Give three arguments on the prevalance of Unity in Diversity in
North East India. 3

TeT 57 wiws Rivaeis Mers 97 @FemE [Kare Ffcg - ff !
I |

Why has the coalition Government become popular in most
counties of the world now a days? 3

T sjfadiq qecel (e AfIflere peeR Tl Y (arRe
How can we conserve resources? Give three arguments. 3

IS AW (R 7T A AR 2 o0 Ife e« —
How did the British keep aside the Muslims from the Swadeshi
Movement? 3
HRIATHFCE (FEWE THTI FFAF T AR 21 S
DIRIESE

Why is the Brahmaputra Basin directly associated with some
foreign countries? What suggestion you can give for the man-

agement of the Brahmaputra Basin? 1+3=4
FeE 1 SRS RS [Roel 981 ¢ce 79 eorwei@
GTw ? Tl SRR 2GR A o & s g care 2

Distinguish between Fundamental Rights and Directive Princi-
ples of State Policy. 4

CTfeRE SRR o AT =i Tifes Siere 2114 wife < |

How does the General Assembly differ from the Security Coun-
cil? (Give four arguments) 4

YT AR (FEACS w7l sifarecs 5§20 2 (51 I wife <)
(91)




29. Discuss briefly the Non-Cooperation Movement launched by = . .
Mahatma Gandhi. What incident compelled Gandhi to suspend % 'é N el R e Rl A =
the Movement? 3+2=5 oI5 =
T =
SRR o 91 SRR SIS AR ST SNCEbal 41 | i
X T | 0
o112 MRS SCWECo! Zfare AR e Fiafee 2 g (”;
w |2
30. Draw asketch map of Assam and insert the following 2+1+1+1 ég °F
< |>
1. One National Park on the North Bank of Brahmaputra. o = = =
7 [P F||& =
2. Silchar. Tz
3. Haflong. g g
ST G TN WA Sk R O MRAIER 92ed — 8 12
[ PP RS
0 |=
(3) g7 TG A1 G IR Syl =R AEE S HEE
al < o= = = —
() eT5] w Z 5 55 o
(o) =rF=R @ 2w |"FS] 8 [ E
. . . X< 123 SIS - SIS NS
31. Why is Assam backward in urbanisation? 6 < |4 = | || =
> B RS T 2
S SIS 5 foigea e Slf [NE | |N®S llix
X |5 < |2
32. Why is Asia called a continent of contrasts? 6 n o . _ B Ll L
S &5 |5 Zlclg gl |®
Gl TR 57 @ibasy =i (e 23 2 g mg >;§:;<_5 ggg?ﬁgﬁfﬁ
33. Discuss the Quit India Movement that occured in Assam. 6 2 %Eg % g5 g glE N A= %
< SRR PR R R
SPTTe A (ZI4l OIS ©Jie SCHIE T=ACE SO 5 | Se 81735 ¢(8|SEEE |2 (B émgeﬁgfﬁ
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Figures within brackets indicate the number of questions and figures outside the brackets indicate marks.

& Notes:

N

Nil
Nil

Scheme of Sections:

Scheme of Options:
Difficulty level:

Marks : 34
Marks : 51
Marks : 9
Marks: 6

No. 18
No. 9
No. 6

Very Short Answer (VSA)

Short Answer (SA)
Objective (O)

Summary: Long Answer (LA) or Essay (E) No. 6

Difficult 15% Avarage 65% Easy 20%

Name & Signature of the Paper Setter

49

Class: X

Design of Question Paper
Sub : English (2nd language)

Time: 3 hours Marks: 80 (+20 internal)

1. Weightage to Objectives:

Objective K C Ex Total
Percentage of marks
Marks 20 28 32 80
2. Weightage to Form of Questions:
Forms of Questions LA A VA O Totd
No. of Questions 5 9 22 16 52
MarksAllotted 30 18 22 10 80
Estimated Time 76 40 40 10(Re-14180
3. Weightageto Content :
UnitySub-Units Marks
Father'sHelp, Earthquakein Assam 7
Preparationfor England, A Child Speaks 7
The Ant Community 5
Lucy Poems, Inthe Bazaarsof Hyderabad 6

NoukwdNE

TheLight of Other Days, The Professor 5
The Bishop's Candlesticks 5
The Cabuliwallah 5
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8. Grammar (determiners, tense forms, direct
and indirect narration, vocabulary, sentence correction,
synthesis of sentences, sentence patterns,

verb phrases, preposition, voice) 20
9. Composition 20
10. Oral English (Internal) 10
11. Projects (Internal) 10
Totd 100
Scheme of Sections: 6 (SiX)
Schemeof Options:  Only limited internal options
Difficulty level : Difficult :  20% marks
Average: 50% marks
Easy : 30% marks

Abbreviations : K (Knowledge), C (Comprehension), Ex

(Expression), LA (Long Answer Type), SA (Short Answer
Type), VSA (Very Short Answer Type), O (Objective Type),
Rev. (Revision).

* Oral English and Projectswill be evaluated internally by
the schools concerned.
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Model Question Paper
Sub : English (2nd language)
Class X

Marks: 80 (+20 internal)

(New Course)

Time: 3 hours

The figures in the margin indicate full marks for the questions.

agrowbdpE

N o

The candidates are required to write the answers in their own
words as far as possible.

Section - A

"I could expect nothing morefrom you". Who said this?
When did Gandhi pass the matriculation examination?
What did Bismark wish to bereborn as?

Who was Samuel ?

to fireasalute of 60 gunson Jubilee Day?
Describe how "holesintheozone" harm lifeontheearth. 2

theinner door?
Why did Dave want Gandhi to study in England?

(97)

1
1
1
1

Why were Grandfather and many othersworried at the proposal

2

Why couldn't Grandfather escape from the bathroom through

2
2



9.

10.

(i)

11.

Choose the meaning of the words in italics in the following

sentencesfrom the alternativesgivenin brackets:  /,x 4=2

(i) Swami gavealurid account of Samuel'sviolence.
(shocking / shaken / clear)

(i1) Swami went to school feeling that heisthe worst perjurer
on earth. (magician/ liar / student)

(iii) I broke my way under iron railings andextricated the others.
(fixed / skid / freed)

(iv) The prisoners, instead of making their escape, sat huddlied
on theroad. (clustered/perplexed/relaxed)

Choose the correct statement from the following : 1

The matriculation examination used to be held at 3 centres at

that time.

(i) The collegein Bhavnagar was cheaper than that in Bombay.

(i) Gandhi's mother accompanied him to Bombay.

Read the following extract carefully and answer the questions

that follow :

"Woe to the living creatures that fall in the track of some of

these armies of cannibal ants. Nothing is safe from them. Some

armies, as they march along, appear to be under the orders of

the officerswho run a ongside the main body. In countrieswhere

such armies are on the march, it is no uncommon thing for a

settler to wake up inthe middle of the night and find the floor of

his bedroom black with ants. Fortunately, ants hate kerosene.

and in districts where the settler may expect such visitors the

beds are made to stand in saucers of kerosene. Thispreventsthe

antsfrom attacking the sleeper."

(1) What is meant by cannibal ants? 1
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12.

13.
14.
15.

16.
17.

18.

19.

(it) How do they march when they go in search of prey? 1
(iii) How can their attack be prevented? 2

Section - B
From thefollowing words, choose aword that rhymeswith ‘there

and fed': Y,x2=1
dear, care, beer, hill, whed, real

Write briefly about the place where Lucy lived. 2
How did the merchants adorn their stalls "In the Bazaars of
Hyderabad? 2
Give apen picture of the deserted banquet hall. 2
How does Professor Sheth view family planning? 2
Fill inthe blanks with the appropriate word given in brackets:

1+1=2
(a) The cheerful — now broken! (eyes, hearts, things)
(b) What do you—, O ye peddlers? (grind, call, say)

Section - C

Write the story of the convict's past as he narrates it to the

Bishop. 5
Or

Why was the convict eager to go to Paris? Washeableto goto

Paris? 5

Describe the country of the Cabuliwallah as imagined by the

author. 5

(99)



20.

21.

22.

23.

24,

25.

Or
Describe the condition in which Mini's father saw the

Cabuliwallah that morning when hewas arrested. 5
Section - D

Changethevoice of thefollowing : 1+1=2

(a) The Indian team scored 3 goals.

(b) The culprit has been arrested.

Fill inthe blankswith appropriate preposition : 1+1=2

(8) They deprived me.............. my rights

(b) We sympathized............ himin hissorrow.

Choose the right determiner from those given in brackets and

fill inthe blanks: Yyx 4=2

(@1 get_ helpfrommy mother than my father.
(many/much/more)

(b) Fiveboyswereseatedon _ bench. (any/every/each)

(c) Sixty minutesmake____ hour. (a/an/the)

(d) __ poemshe haswritten are of great excellence.
(few/afew/thefew)

Usethecorrect formsof tenseof theverbsgiveninbrackets: 1x2=2

(a) When | went in he (read) abook.

(b) He (go) to school on foot.

Change the forms of narration of thefollowing :

(a) Theteacher said, "Tomorrow isaholiday."

(b) Ragini asked the boy what he was doing there.

Frame sentences using any one pair of the following to show

1+1=2

(100)
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26.

27.

28.

29.

30.

their differencesin meaning : 2
peace piece
hard hardly
cast caste

Correct the errorsinthefollowing sentences:.(Any three) 1x3=3
(a) One of the boy isthere.

(b) Six milesare along distance.

(c) Heis more older than hiswife.

(d) Don't make noise.

(e) Y ou should write your answerswith ink.

Combine each of thefollowing pairs of sentencesinto asingle
sentence : 1+1=2
() Themanisvery weak. He cannot walk.

(b) Thisisthegirl. She stood first in the examination.

Make sentences to show the use of any two of the following
phrases: 1+1=2
Look for bring up put of f hanker after
Make a sentence in either of the following patterns : 1
(a) Theteacher has given ushomework.
or
(b) StV +toinfinitive.
Section - E

Trand atethefollowinginto English: 6
AP SIS 2T (TN, “COMIGENCS (SRR Oremsizet MR 27

(BN G2 S e I T2 i< st calfecett | W) @2
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or

Givethe substance of thefollowing paragraph: 6

31

32.

Manisthearchitect of hisownfate. If hemakesaproper divison
of histime and does hisduties regularly, heis sureto improve
and prosper in his life; but if he does otherwise, he is sure to
repent when it istoo late, and he will have to drag amiserable
existence from day to day. To kill time is as culpable as to
commit suicide, for our lifeisnothing but the sumtotal of hours,
daysandyears. Y outh isthe seed timeof life. Inyouth, themind
ispliableand soft and can be moulded in any formwelike. If we
lose the morning hours of lifewe shall haveto repent otherwise.
A. Write an essay oneither of the following topicsin about 150
words: 8
() Your favourite author.
(i) Hedthiswealth.
or

B. Writeastory in about 150 words, using the outline given and
add asuitabletitletoit : 8

An old lady becomes blind — callsin a doctor — agrees to
pay alargefeeif cured, but nothing if not — doctor comesdaily
and takes away some of her furniture — at last cures her and
demands hisfee— lady refusesto pay saying cure not complete;
— she cannot see al her furniture.
A.Writealetter totheeditor of alocd English Dally drawing attention
to theinsanitary condition of the bazaar in your locality. 6

(102)
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or

B. A reporter from a newspaper was sent to report on a road
accident. Below you can see the records he had made for the
actual report. Prepare a report for a newspaper using the
information given below without adding any new information
from your end. 6

14/03/2011: 6:30 p.m.

A businaditch at Sonapur (outskirts of Guwahati)

Busbraked to avoid collision with a speeding truck—swerved

Hit aroadsidetree — overturned.

Ten passengerskilled on the spot —till unidentified

Driver escaped

Injured sent to Gauhati Medical College Hospital.

Section - F (Internal Assessment)
A : Oral English (10 marks)
B : Projects (10 marks)

(Studentswill be evaluated internally by the concerned school just

after Pre-final Assessment)
A : Oral English

Thefollowing isonly aguidanceto the teacher/examiner while
eva uating the studentsin Oral English.

Studentswill be asked to pronounceminimal pairs (6 pairs) from
a card (already prepared by the teacher/examiner). Correct
pronunciation of each pair will carry 1 mark.The card may be
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prepared in thefollowing way .— 3 marks

Vowels: feel-fill, pull-pool, sin-seen
Consonants : fine-pine, den-then, sin-chin
Studentswill be evaluated on their ability to describe aprocess/

journey/picture etc. Theteacher/examiner will prepare card on
whichwill bewritten thefollowing :

Y ou plan to go to (name of aplace) on aholiday.
Tell your partner how you intend to go there.

Students may begin"After theexam, | intend to.........
(Students may be given picturesto describe, instead) 4 marks
Studentswill beevauated on their communicative skill and ability
to share/exchangeinformation.

The teacher/examiner will arrange pair work where two
studentswill talk about atopic (like hobbies, likesand dislikes,
particular cricket/football match, making plans etc.) given to
them. 3 marks

B : Projects
Students will be asked to read a story book/novel/biography/
travel ogue, etc. in English at home and write a brief account of
it in about 100 words mentioning thetitle, the author, publisher
and the subject matter. 5 marks
Studentswill be asked to report in writing in about 100 wordsa
real event (festival, cel ebration/observance of an important day,
etc.) that has happened intheir locality. 5 marks

*kkk*x
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BLUEPRINT OF THE QUESTION PAPER

Subject : English Class: X
Maximum Marks: 100 Time: 3 hours
g Objectives Knowledge Comprehension Expression Total

NO. Forms of LA|SA [VSA| O |[LA| SA |VSA| O |LA| SA [VRA] ©
‘[ units/ Sub-units———Quetias
1 | Father's Help, 1(1)[1(2) 2
Earthquake in Assam 1(2) 4(2) 5
2 | Preparation for England, 2(2)|L(1) 2(1) 5
A Child Speaks 2(1) 2
3 | The Ant Community 1(1) 2(1)[2(2) 5
4 | Lucy Poems, 2(1) 1(1) 3
In the Bazaars of Hyderabad 1(1) 2(1) 3
5 | The Light of Other Days, [1(1) 2(1) 3
The Professor 2(1) 2
6 | The Bishop's Candlesticks 5(1) 5
The Cabuliwallah 5(1) 5
7a| Grammar 4(4)}4(8) [12(12) 20
7b | Composition
@) Trgqslanon | Substance 6(1 6
writing
(ii) Letter Writing / Report 6(1) 6
writing
(iii) St(_)r_y Writing / Essay (1) 8
writing
Sub-Total 20 28 32 80
8a| * Oral English (internal) 10 10
8b [ * Projects (internal) 5 5 10
Total 20 33 47 100

Note : Figures within the brackets indicate the number of questions and the figures outside
indicate the total marks.
* Oral English and Projects will be evaluated internally by the concerned schools.

Scheme of Options : Only limited
internal

Summary :Long Answer (LA)

Short Answer (SA)

Very Short Answer (VSA)

Objective Type (O)

No. of Item: 5 Marks: 30

No. of Item: 9 Marks: 18
No. of Item : 22Marks: 22
No. of Item :16 Marks: 10
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options
Scheme of sections : 6 (Six)
Difficulty Level :

Easy 30%,
Average 50%



